Update on pnn2 PV

Small sample (subset of 1/6)

IA\cceptance sample setup Rejection sample setup cuts:
Cuts: ®* pnnlor2 kinks
*Km21 (kinkqual=1) (48.1k)
* STLAY, RSHEX, RSHEX2, * BAD_RUN, UTBFLD>9.9,
PASS1, online PV online PV (47.8k)
* KINCUT02 NOBOX * ITGQUALT<7, DELCOS,
* KMU2BOX NDCLAY>9, KINKPT<7
°* PSCUTO02 (9.6Kk)
* TDCUTO0?2 (4.9k)
°* PSCUT02_KINK (1.4k)




Update on pnn2 PV

1/6 sample
ID\cceptance sample setup Rejection sample setup cuts:
Cuts: * pnnlor2 kinks
*Km21 (kinkqual=1) (142.1k)
* STLAY, RSHEX, * BAD_RUN, UTBFLD>9.9,
RSHEX2, PASS1, online online PV (141.8Kk)
PV °* ITGQUALT<7, DELCOS,
" KINCUTOZ_NOBOX NDCLAY>9, KINKPT<7
* KMU2BOX (28.5K)
* PSCUTO2 * TDCUTO2 (14.2k)
* PSCUTO02_KINK (3.9k)
N PNN2BOX: 741
N KP2BOX 2281




# of events that passed the PV

acceptance no box PNN2BOX KP2BOX
0.24 3 0 3
0.26 3 0 3
0.36 2 0 2
0.41 3 0 3
0.45 4 0 4
0.5 4 0 4
0.54 4 0 4
0.67 6 0 5
0.71 9 1 7
0.73 11 2 8
0.8 11 2 8
0.84 19 5 12
0.88 26 7 15
0.92 39 12 21
0.97 66 13 35

These events had either:
" spurs on the pi track in the TG (run 50192, evt 22965)
" track(s) coming from the back of the pi (run 50042, evt 115290)

" erroneous kink point, way out of pi fiber (run 49157, evt 8640)




